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Section II
[TO BE ATTACHED TO THE MAIN ANSWER-BOOK]
UG CBCSS INTERNAL EXAMINATION, MAY 204

DO NOT WRITE YOUR REGISTER NUMBER OR NAME ANYWHERE IN SECTION II OF THE
QUESTION PAPER

Answer all questions.
All questions carry equal weight.

Put a tick mark [vV] in the column against the correct answer.

1. Who is called the father of modern Computing ?

(A) Claud Shannon.

(B) Charles Babbage.

(C) Presper Eckert.

(D) John Von Newman.

2. Which one of these is the first fully electronic computer ?

(A) EDVAC. (B) ENIAC.

(C) EDSAC. (D) UNIVAC.

3. The third generation computers began with the advent of

(A) Vacuum tubes. (B) Transistors

(C) ICs. (D) VSLL

4. Which is the computer developed in India to facilitate the rural people ?

(A) Palmtop. (B) Desktop.

(C) Laptop. (D) Simputer.
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5. Amazon’s e-book reader is called

(A) Kindle. (B) PDA.

(C) I pod. (D) Smart phone.

6. Pick the odd one out :

(A) Window Me. (B) Window vista.

(C) Window Xp. (D) Microsoft.

7. ‘Free software’ does not mean :

(A) The freedom to run the program for any purpose.

(B) The freedom to redistribute copies.

(C) Should be distributed free of charges.

(D) The freedom to improve the program.

8. Cryptography is used for

(A) Privacy.

(B) Safety.

(C) Copyright purpose.

(D) All of the above.

9. The process of adopting software for a particular country or region is called

(A) Localization. (B) Networking.

(C) Blog. (D) None of the above.

10. The Malayalam word processing software that uses Old Malayalam font for text creation is

(A) iLEAP. (B) RACHANA.

(C) DNYANESHNARI (D) CHITHRANKAN.

2/4

IEEsaail|



11. Indic language support is necessary for all software sold in

(A) Britain.

(C) India.

12. India is a member of the

(B)

(D)

(A) Unicode Consortium.

(B) ASCIL

(C) C-DAC.

(D) None of the above.

13. The regular standard font is often labeled

(A) Bold.
(C) Thin.

14. The thickness of a particular font is
(A) Italics.

(C) Weight.

15. Unicode originated in the year
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America.

France.

(B)

(D)

called

Roman.

Italics.

(B)

(D)

(A) 1987.

(C) 1989.
16. An example of a pointing device is :

(A) Trackball.
(B) Light pens.
(C) Digitizing tablets.

(D) All of the above.
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17. The four steps CPU’s use in their operations are :
(A) Endeavour, drive, encode and serialize.
(B) Fetch, decode, execute and writeback.
(C) Copy, sever, cut and paste.
(D) None of the above.
18. Printers use electro-mechanical mechanism that causes hammers or pins to strike

against a ribbon and a paper to print the text.

(A) Impact printers.
(C) Laser printer.

19. Pick the odd one out :
(A) Dotmatrix printer.

(C) Speaker.

20. Pick the odd one out :

(B) Liquid inkjet printer.

(D) None of the above.

(B) Mouse.

(D) Laser printer.

(A) VDU. (B) Printer.
(C) Keyboard. (D) Speaker.
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